VR 295E A ()

A B || e HEL 4 %
H29.4.4k [19: 00~ [ Rk 284 FEfA 2 S AEREIRERE T
4.9|H| 9:00~ T ={fI~=BAE#HEFLES | EREFFE &
4.16|H| 9:00~|&-H - LU IR A= ANAT—VE TR E | %%
418k [19:30~|4 A EBIFE S =M AERE T T
5.16k [19:30~|5 H EHIFE H£ = AEREIRERE Tt
6.18|H | 9:00~|FHFHE = -G FE = = AERERERE B/
6.20|K |19 : 30~ | P8 ={FT &Il E B B FF A1V FE = AR E REEE FE
718k [19:30~|7 A EBIFE H S S AERAE B F e
7.23|H| 9:00~|E =W~ =BRAE#EEEES | SHARKRERERE T
8.6{H | 9:00~&-H - 2 LU HIK MR A AHAR—/VEETHRERE | %1%
8.8|k[19:30~ 8 H EFIFE HE = AEREIRERE Tt
9.19k [19:30~|9 H EBIFE H = AR A B F e
9.24|H| 9:00~| P =M ALEE R EEEH#E S SHARRAIRERE 37
10.17k[19:30~|10 A EFIFE 2 =HARERE T T
11.19{H| 9:00~|811[E ALLHRIERS SRR R B/
11.210k[19:30~[11 A EFIfE L S ARERE B T
11.26{H | 9:00~|&H « s LU HLIX FRAT FF A 2 AAAT—VEBETRIER | %%
12.10{H [13:00~ | A &L L &ILEFE D S ARERAE B T
H30.1.14|H [13: 00~ | A L LALERE drhad - & B2 - S | S AFEREHEEE T
1.28|H [12:00~| %5 16[a] 78 = &IE 4% AHAR—/VEHTTRIEE 20
2.20[k[19:30~|2 H EHIFEH S = AEREIRERE Tt
3.18[H| 9:00~ |FAEMHEE XL ORLIVE LTS | ZHARREREEE T
3.201k [19:30~ |3 H EHIFE HE = AEREIRERE Tt
3.27K|19: 00~ | R 294 FE PRI 2 AR AR EEE T




